

Investment Scheme Book



The V Ventures
Investment made easy



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

Welcome to our High-Return Monthly Investment Plans, designed to provide investors with consistent monthly income and excellent annual growth potential.

We offer two unique investment schemes tailored to suit different financial goals and risk preferences:

Scheme 1: Monthly Return with Capital Protection

- Monthly Return: 12% for 11 months
- Capital Return: 100% of the invested amount returned in the 12th month
- Ideal For: Investors who prefer steady income along with full capital safety.

This plan allows you to enjoy regular monthly payouts while ensuring your investment capital is returned at the end of the 12-month period.

Scheme 2: High Monthly Return (No Capital Return)

- Monthly Return: 22% for 12 months
- Capital Return: Not applicable (capital included in monthly returns)
- Ideal For: Investors seeking high short-term gains and stronger monthly cash flow.

This plan focuses on maximized returns through higher monthly payouts, suitable for investors looking for aggressive growth and faster profit cycles.

Both plans offer transparent, time-bound payouts and are designed to help you achieve your financial goals effectively and confidently





THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

	INVESTMENT	MONTHLY RETURNS	CAPITAL RETURNS	TOTAL RETURNS	TOTAL PROFIT
SCHEME 1	50,000	6,000	50,000	116,000	66,000
	100,000	12,000	100,000	232,000	132,000
	200,000	24,000	200,000	464,000	264,000
	300,000	36,000	300,000	696,000	396,000
	400,000	48,000	400,000	928,000	528,000
	500,000	60,000	500,000	1,160,000	660,000
SCHEME 2	50,000	11,000	-	121,000	71,000
	100,000	22,000	-	242,000	142,000
	200,000	44,000	-	484,000	284,000
	300,000	66,000	-	726,000	426,000
	400,000	88,000	-	968,000	568,000
	500,000	110,000	-	1,210,000	710,000



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 50,000 Scheme 1

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	6,000	6,000	-	6,000
2	6,000	12,000	-	12,000
3	6,000	18,000	-	18,000
4	6,000	24,000	-	24,000
5	6,000	30,000	-	30,000
6	6,000	36,000	-	36,000
7	6,000	42,000	-	42,000
8	6,000	48,000	-	48,000
9	6,000	54,000	-	54,000
10	6,000	60,000	-	60,000
11	6,000	66,000	-	66,000
12	-	66,000	50,000	116,000

Summary:

- Investment Amount: ₹50,000
- Monthly Return: ₹6,000 (for 11 months)
- Capital Returned in Month 12: ₹50,000
- Total Received by End of 12 Months: ₹1,16,000
- Total Profit: ₹66,000
- Effective Annual Return: 132%



THE V VENTURES
Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 1,00,000 Scheme 1

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	12,000	12,000	-	12,000
2	12,000	24,000	-	24,000
3	12,000	36,000	-	36,000
4	12,000	48,000	-	48,000
5	12,000	60,000	-	60,000
6	12,000	72,000	-	72,000
7	12,000	84,000	-	84,000
8	12,000	96,000	-	96,000
9	12,000	108,000	-	108,000
10	12,000	120,000	-	120,000
11	12,000	132,000	-	132,000
12	-	132,000	100,000	232,000

Summary:

- Investment Amount: ₹100,000
- Monthly Return: ₹12,000 (for 11 months)
- Capital Returned in Month 12: ₹100,000
- Total Received by End of 12 Months: ₹2,32,000
- Total Profit: ₹1,32,000
- Effective Annual Return: 132%



THE V VENTURES
Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 3,00,000 Scheme 1

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	36,000	36,000	-	36,000
2	36,000	72,000	-	72,000
3	36,000	108,000	-	108,000
4	36,000	144,000	-	144,000
5	36,000	180,000	-	180,000
6	36,000	216,000	-	216,000
7	36,000	252,000	-	252,000
8	36,000	288,000	-	288,000
9	36,000	324,000	-	324,000
10	36,000	360,000	-	360,000
11	36,000	396,000	-	396,000
12	-	396,000	300,000	696,000

Summary:

- Investment Amount: ₹300,000
- Monthly Return: ₹36,000 (for 11 months)
- Capital Returned in Month 12: ₹300,000
- Total Received by End of 12 Months: ₹696,000
- Total Profit: ₹396,000
- Effective Annual Return: 132%



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 5,00,000 Scheme 1

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	60,000	60,000	-	60,000
2	60,000	120,000	-	120,000
3	60,000	180,000	-	180,000
4	60,000	240,000	-	240,000
5	60,000	300,000	-	300,000
6	60,000	360,000	-	360,000
7	60,000	420,000	-	420,000
8	60,000	480,000	-	480,000
9	60,000	540,000	-	540,000
10	60,000	600,000	-	600,000
11	60,000	660,000	-	660,000
12	-	660,000	500,000	1,160,000

Summary:

- Investment Amount: ₹5,00,000
- Monthly Return: ₹60,000 (for 11 months)
- Capital Returned in Month 12: ₹5,00,000
- Total Received by End of 12 Months: ₹11,60,000
- Total Profit: ₹6,60,000
- Effective Annual Return: 132%



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 50,000 Scheme 2

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	11,000	11,000	-	11,000
2	11,000	22,000	-	22,000
3	11,000	33,000	-	33,000
4	11,000	44,000	-	44,000
5	11,000	55,000	-	55,000
6	11,000	66,000	-	66,000
7	11,000	77,000	-	77,000
8	11,000	88,000	-	88,000
9	11,000	99,000	-	99,000
10	11,000	110,000	-	110,000
11	11,000	121,000	-	121,000

Summary:

- Investment Amount: ₹50,000
- Monthly Return: ₹11,000 (for 11 months)
- Capital Returned in Month 12: NIL
- Total Received by End of 12 Months: ₹1,21,000
- Total Profit: ₹71,000
- Effective Annual Return: 142%



THE V VENTURES
Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 1,00,000 Scheme 2

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	22,000	22,000	-	22,000
2	22,000	44,000	-	44,000
3	22,000	66,000	-	66,000
4	22,000	88,000	-	88,000
5	22,000	110,000	-	110,000
6	22,000	132,000	-	132,000
7	22,000	154,000	-	154,000
8	22,000	176,000	-	176,000
9	22,000	198,000	-	198,000
10	22,000	220,000	-	220,000
11	22,000	242,000	-	242,000

Summary:

- Investment Amount: ₹100,000
- Monthly Return: ₹22,000 (for 11 months)
- Capital Returned in Month 12: NIL
- Total Received by End of 12 Months: ₹2,42,000
- Total Profit: ₹1,42,000
- Effective Annual Return: 142%



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 3,00,000 Scheme 2

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	66,000	66,000	-	66,000
2	66,000	132,000	-	132,000
3	66,000	198,000	-	198,000
4	66,000	264,000	-	264,000
5	66,000	330,000	-	330,000
6	66,000	396,000	-	396,000
7	66,000	462,000	-	462,000
8	66,000	528,000	-	528,000
9	66,000	594,000	-	594,000
10	66,000	660,000	-	660,000
11	66,000	726,000	-	726,000

Summary:

- Investment Amount: ₹300,000
- Monthly Return: ₹66,000 (for 11 months)
- Capital Returned in Month 12: NIL
- Total Received by End of 12 Months: ₹7,26,000
- Total Profit: ₹4,26,000
- Effective Annual Return: 142%



THE V VENTURES

Investment made easy

3/63B, First floor,
Shop no.4, Kovaipudur Main Road,
Perur Chettipalayam,
Coimbatore - 641010

+91 95005 20604 

INVESTMENT PLAN SUMMARY - 5,00,000 Scheme 2

MONTH	MONTHLY RETURNS	CUMULATIVE RETURNS	CAPITAL RETURNS	TOTAL RECIEVED
1	110,000	110,000	-	110,000
2	110,000	220,000	-	220,000
3	110,000	330,000	-	330,000
4	110,000	440,000	-	440,000
5	110,000	550,000	-	550,000
6	110,000	660,000	-	660,000
7	110,000	770,000	-	770,000
8	110,000	880,000	-	880,000
9	110,000	990,000	-	990,000
10	110,000	1,100,000	-	1,100,000
11	110,000	1,210,000	-	1,210,000

Summary:

- Investment Amount: ₹5,00,000
- Monthly Return: ₹110,000 (for 11 months)
- Capital Returned in Month 12: NIL
- Total Received by End of 12 Months: ₹12,10,000
- Total Profit: ₹7,10,000
- Effective Annual Return: 142%